60’—0"[18288]

——
2270P
Vehicle G > —_—
Left 1/4—pt. offset 2nd barricade
Right 1/4—pt. offset from centerline at 0
from centerline 1st barricade of vehicle
of vehicle at 90°
PLAN VIEW
} TT—T1T
60"[1524] H——F
Ground | ' '
Line

ELEVATION VIEW

Notes: (1) Test shall be performed according to test designation no. 3—72 of
MASH criteria.

(2) A 50-Ib [22.7—kg] sandbag shall be added to each leg (4 per
barricade, for 200 Ib [90.7 kg]).

(3) For the second impact, sign (part c1) shall be placed on upstream
side of barricade.

Midwest Roadside
Safety Facility

UNITS: in.[mm]

. SHEET:
Type Il Barricade 10f 8
Test No. WZNP-2 DATE:

7/22/2020
DRAWN BY:
Test I_ClyOUt DJW,/SBW

DWG. NAME. SCALE: 1:130 |REV. BY:

WZNP—2_R1 MAP




@ O
—_ 7 0

d2
kS ¥ @
: \‘ o 20”[508]
9 1/8"[232] ) (44
: :
: —
T 20"[508] 60"[1524]
‘/5 : XZO"[508] :\?
@ i Ground é / |ooooooooooooooooooooooé\oooooogooooooﬁoooooooooooooooooooooo|
5o Line

ELEVATION VIEW

Note: (1) Total barricade weight = 61 Ib [27.7 kg].
(2) Additional washers (parts d4 and d5) on the opposite side.
(3) Additional washers and nuts (parts d6 and d8) on the opposite side of
aluminum sign.

PROFILE VIEW

Midwest Roadside
Safety Facility

; SHEET:
Type Il Barricade 2 of 8
Test No. WZNP-2 DATE:

7/22/2020
DRAWN BY:
Barricade Overview DJW/SBW

DWG. NAME. SCALE: 1:22 |REV. BY:

WZNP—2_R1 UNITS: in.[mm] |MAP




1/8"3]]

O O0OO0O0O0OO0O0O0

0 O0OO0OO0O0

Line

DETAIL B

DETAIL A

8 &5 |.
.o S |28 |&
m.m TN AWnW g
S w 5 |83 B2

T
o &
G g
2 g
[72 )
o N
o |
O
.mN 1)
N =
(- O
o= =
m [a)
= O o
= =z .m m_
(] .© [N,
o EEd
> O o |=Z2
|t m g =
O
I (O]
I ©O
o
O=
O o
oo
e NN
-+
0
00
=
93
=




L 10"[254] A‘
1 1/%"@ '

96"[2438]

’7 10”[254] —

T
| |
5"[127] yd e 8"[203]
L e ———————————————————————————== | | e ——————————————————————————————————=o
. i I ° il
1 /z"g 3] ! !
(TP
ELEVATION VIEW PROFILE VIEW
Part a1
96"[2438] YA
~—107[254] ————18"[457] 18”"[457] — =}~ 10"[254] — —~ —1"[25]
1.1/27[38] n_ 1
5”[127] 8”[203]
” I | S
\m/z”m 1 ° [102] N—@B/B”UO] \QH/Z"U 3]
ELEVATION VIEW PROFILE VIEW
Part a2
SHEET:
Type Il Barricade 4of 8
Test No. WZNP-2 DATE:
7/22/2020
Note: (1) Hol il be drilled at site aft deri Plastic B Detail s
ote: oles wi (S] rifie at site arter ordering. . . astic eam etails /
(2) Board height, width, and profile may vary by manufacturer. Midwest ROO,d,Slde P
Sofety FOClllty DWG. NAME. SCALE: 1:10 REV. BY:
WZNP—-2_R1 UNITS: in.[mm][MAP




58”[1473] Y 1 .3/47[44]
i , , , , , . | , , , , ,
7/8"[22] 14—gauge[1.9]—{~ i
1*@63@@@@* ;@@@@@@ 1 13/4[44]
1"[25] L®7/16 1 I R1/8”[4]—"
TYP TYP
(TP (") ELEVATION VIEW PROFILE VIEW
Part b1
60"[1524] N 2" [51]
i - - - - SN L -
———-L-t-L——I—I—I——J-J-J-——l—l—l——J-JI-J-——l' | '—l—l——-l--t-l- J-J-J-— LR R R — S g S — 3\
1”[25] A | 14—gauge[1.9]
0§ O-0-0 @@@@@@ o
E——=1 =TT T— |:| —1-‘;'1' —|:| |—l—|— -r-r'r 'r'r'r— 1= —1-1'1'———
. , K ' ' ' ' ' R3/16"[5]
1"[25 <257/16 11
(T[YP)] (TYP)[ ] ELEVATION VIEW PROFILE VIEW
Part b2
6"[152] 2°[51]
14—gauge[1.9]—
,,j—@@*GK@@@ : 2°51]
1"[25]
— _|__'l"_l_*_l'f'|’__l_|_l_ TTT- N
RV N ¢7/16"[11] R3/16"[5]— _—
(TYP) (TYP) ROFILE VIEW Type Il Barricade 5 of 8
ELEVATION VIEW Test No. WZNP-2 oRTE
Part b3 7/22/2020
. . Perforated Steel Tube Details EJR\:V/VQBT:
Midwest Roadside
Sofety FO C”ity DWG. NAME. SCALE: 1:3 REV. BY:
WZNP—-2_R1 UNITS: inA[mm] MAP




48"[1219] 03/8[10] 0.08"[2] =
FIELD DRILLED
: 7 om
4"[102] /
Q -
30"[762] 20”[508]
4 - 4
6"[152]
L—»—4” 102 4"[102 —~——‘
oz] oz PROFILE VIEW

ELEVATION VIEW

Part c1

10 1/4"[260]

Note: (1) Dimensions for part c2 will vary by manufacturer.

L
3"[176] & f
| ﬂ 1 1/2°[38] | ] Type Il Barricade zHEst
' ) Test No. WZNP-2 o
) 3 1/2"[89] 3 1/4"[83] 7/22/2020
7 [1 78] . . . . DRAWN BY:
ELEVATION VIEW PROFILE VIEW Midwest Roadside| >9" ¢ "arming tiaht betafls s
Part c2 Sofety FOCi“ty DWG. NAME. SCALE: 1:10 REV. BY:
WZNP-2_R1 UNITS: in.[mm][MAP




” 3/327[2] o
3 1/2”[89] 5/8"[16] 5/16"8] ®1°[25]
-~ 1"[25] — " " ®7/16"[11] a
! PR PR
] 1 a a |
———————————— B \\ Y Y |
| / N ___/
3/8"—16 UNC [M10x1.5] -
Part d1 Part d7 Part d4
3/32"[3]o |-
, @1 3/8”[35]
6°[152] $9/16°[14]
1 1/4"[32] —]
1/2”=13 UNC [M14x2]x
Part d2 L |
Part d5

L1 3/47[44]
—~ 3/4”[19]

e ———

1/4"—20 UNC [M6x1] Part d8
Part d3

Note: (1) Part d2 length may vary by barricade rail manufacturer and diameter
may vary by warning light manufacturer. Hole size in parts a2 and b1
need to be adjusted to accommodate part d2.

may

1/16”[2] — |-

Midwest Roadside
Safety Facility

$3/4"[19]
! »5/16”[8] _
: L
Part d6
; SHEET:
Type Il Barricade 7 of 8
Test No. WZNP-2 DATE:
7/22/2020
DRAWN BY:
System Hardware DJW/SBW
DWG. NAME. SCALE: 1:1  |REV. BY:
WZNP—2_R1 UNITS: in.[mm] |MAP




[tem

No. QTY. Description Material Specification Treatment Specification
al 2 |Plastic Panel, 96" [2,438] Long High Density Polyethylene -
a2 4 |Plastic Panel, 96" [2,438] Long High Density Polyethylene -
1 3/4"x1 3/4"x14—gauge [44x44x1.9], 58" ASTM 1011 Gr. 55
b1 | 4 [1,443] Long/ Perforgted’ Sq[uclre Tubin]g Min. yield 60 ksi [414 MPa] ASTM AB53—G90 or AASHTO M—120
2"x2"x14—gauge [51x51x1.9], 60" [1,524] Lon ASTM 1011 Gr. 55
02 | 4 [Booied®aadare Tonmg L1,524] Long Min. yield 60 ksi [414 MPa] ASTM AB53-G90 or AASHTO M-120
2"x2"x14—gauge [51x51x1.9], 6" [152] Lon ASTM 1011 Gr. 55
b3 | 4 Perforotengqgare[ Tubing 67 1152} Long Min. yield 60 ksi [414 MPa] ASTM ABS3-G90 or AMSHTO M—120
ci 2 48 X3.0 x0.08 [1,219)(762)(2] Sigl’] with Reflective Aluminum A“Oy 5052 or similar _
Sheeting
c2 4 |Warning Light (Type A or C) As Supplied -
d1 | 20 [3/8 18, UNC [M10x1.5], 3 1/27 [89] Long Hex ASTM A307 Gr. A or equivalent Fe/Zn 3AN per ASTM F1941
d2 | 4 |J/Z'—13 UNC [M14x2], 67 [152] Long Hex Head ASTM A307 Gr. A or equivalent Fe/Zn 3AN per ASTM F1941
d3 | & |1/#-20 UNC [M6x1], 1 3/4" [44] Long Hex ASTM A307 Gr. A or equivalent Fe/Zn 3AN per ASTM F1941
d4 | 40 |3/8” [10] Dia. Plain USS Washer Low Carbon Steel Fe/Zn 3AN per ASTM F1941
d5 4 [1/2" [13] Dia. Plain USS Washer Low Carbon Steel Fe/Zn 3AN per ASTM F1941
dé | 16 |[1/4” [6] Dia. Plain USS Washer Low Carbon Steel Fe/Zn 3AN per ASTM F1941
d7 | 20 |3/8"—16 UNC [M10x1.5] Lock Nut SAE J995 Gr. 2 or equivalent Fe/Zn 3AN per ASTM F1941
d8 8 [1/4"—20 UNC [M6x1] Lock Nut SAE J995 Gr. 2 or equivalent Fe/Zn 3AN per ASTM F1941
; SHEET:
Type Il Barricade 8 of 8
Test No. WZNP—-2 DATE:
7/22/2020
BH f M t R | DRAWN BY:
Note: (1) Part c1 shall have a reflective sheeting. Midwest Roadside 1oof Matenals DW/saW
(2) Parts a1 & a2 will have orange and white striped reflective sheeting on Sofety FOCI|Ity DWG. NAME. SCALE: None [REV. BY:
at least one side (sign panel side). WZNP—2_R1 UNITS: in.[mm]|MAP




System: SWZDI Barricade Revision History
Drawing: WZNP-2

REV. DATE OF ISSUE Page NATURE OF CHANGES REVIEWER REVISED BY
0] 2/4/2019 - Created from WZNP-1_R15. - DJw
All Changed system name from Type 3 Barricade to Type Il Barricade.
1 7/22/2020 MAP SBW
1 Changed offset notes from referencing car to vehicle.
4 Renamed page to Plastic Beam Details.





<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


